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Solution:

Solution:

1)  John and Riva have 100 cookies together. Riva have 30 cookies. How many  

     cookies John have?

2)  Dora runs his own baking company. Dora’s workers baked 60 plum pies today. 

     they 30 plum pies in the afternoon and some plum pies they baked in the 

     morning. How many plum pies Dora’s workers baked in the morning?

John and Riva have ____ cookies.

Riva have ___ cookies.

John have cookies = ____ - ___ = ___.

Plum pies baked today = ___.

Plum pies baked in the afternoon = ___.

Plum pies baked in the morning = ___ - ___ = ___.

SUBTRACTION

Cookies (100)

Plum pies (60)

Word problems subtraction taking as base 10.


